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Pfﬂb\gm B : The Size of Jupiter (5POTMS)
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Problem C Sche Race Jo the Moon (S Points)

A\\'g@
V=500 knfh (conStant)
4= %94, 000 kun

Speed = distancz-

Fime
Yime = distanc®
Speed

s 3‘?’41000,’% = T16% hours
 Soo }a{/h

—— =

Bo b
a= [4km/h?

d =384, 000 knm

d= it + 05825 Vi =0

]
t= (ad
a

b % :'J (2) (%94, 000 m;

(1.4 km/W2)
t = 740.0(560790

The}re,;o\fé;évéﬁ When Bob starts s'lo‘wlg vt accelerates
Constantly at |, 4 km[h2 | he will win fhe race.

|tp = 740. 66 hous |




Problew O For : . :
m D0 Fores berween Earth and foon (5 Poilnted)

(a). Given
fry= (A - M
...r,)'?/
mG (ME
ZE — Mw
r* Cd'r)7'> 0
| Me
Ul\ér) ~ (n6&
rz >Cd )af
(n&) NE - A Mm
I @+

(& J’
(%[—;‘;6/ & —"(‘Ll(&o
P

(= (,d)\MM _' (r)\%%

() M —&»—Y = (4) ME

ﬂ = (d) J/




(0) The: Earth -poon System (s movieg thus Ly, (s
et Sfaple,

Problem E

ﬂn.c,» process begj{ns When, on the Suwface of fhe sun, Solar
achvity Cgeds a Uoud of gas @lled a Goronal Mass
Ejechon (emE) . (f it reaches Earth |, it coflides with
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Polar teqione - NW&I‘ "H“.ese (JACL‘ﬁ’thfi parhicies collide with oxXygen and
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